3 (Sem~6/CBCS) ECO HC 1

2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )
( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :

1x10=10

O FIERE R Plen w=ore e frat
fa) Mention one objective of Indian fiscal

policy.

SRSY I Ao oy Sree Teard I
() What is repo rate of the RBI?

e [Rars @7 @ @ &2

( Turn Over )
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g | (3)

( ::;Zt::; p(illri(;;t oetrurcaioinan ‘ (k) Define the concept of ‘sustainable
; ' agriculture’.
ST JEIAST BT 2rerse SfRef Sear P | |
e SIS YIRNCOR ik e |
(d) What is meant by ‘financial inclusion’? 1L . ] ) ;
‘T TEEET WCA W T2 () What is diversification of industries?
8 Sg‘@ L
g foread 2
(e)  Give the meaning of Foreign Direct ) et 3
Investment’. (m) State one main objective of the
o7 (TP TR Minimum Wages Act, 1948 by the
3 9. 2
% T S fere o Indian Government.

() What is capital formation in 358 TS SHE HIFI O 31 SRR
agriculture? % <61 o ST D TEL 90|

FR© Jerm o7 2
i (n) What kind of manufacturers are called

(g) Give the meaning of ‘minimum support small-scale industries?

price’ of agricultural produce. B @[ TANTS Tmsz‘a\a oo e R
FRETe AR Foaey T Tom’3 o ford | =7
(h) State one reason for the growth of (0) Define monetary policy.
service sector in India recently. ‘ s A o
el SRS S[ed GRINGT RFPH o1 A
e 791 | 2. Answer any five from the following questions
What i ] AL ' in brief : 2x5=10
(i) at is agricultural productivity -
| ot il PR R e~ oY O o
SR Seemerel 2 2|
(a) Distinguish between fiscal deficit and
() Mention on€ method of public sector ‘. primary deficit.
disinvestment. _ _
TR T e e 4 T T
el < ARAETER <6 aférr Sy A | | e a1 |

22A/852 ( Continued ) | 22A /852 ( Turn Over )



(4]

(b) Write two characteristics of small-scale

(c)

(d)

(e)

22A/852

industries.

g SR 1o CaFIET o |

Write two merits of GST.

GST 9 701 41 for |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy.

R 7 SROH TLAfee RgRad <o
(AR LR TCEd 9 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

R A IAER TR I SHS KR 2=
91 R e 701 M fors |

Tertiary sector in India employs two
different kinds of people. Who are
they?

s CRRER Bl Rivq (qom e Fam
FE | (OSER (1 ?

( Continued )

(S)

(g) Mention two objectives of the National
Competition Policy of India.

weq AR ARAPERETe AWed Tl S
esEall

(h) State any two problems of Public Sector
Enterprise of India.

TR Al 19 S & e 1o el

Ty 40
3. Answer any four from the following
questions : 5x4=20
weTs il PR R G BifReR e f :

(a) Explain any five instruments of fiscal
policy in India.
ST TECERE Nfes B e Awb SR
R 41

(p) Discuss the tools of monetary policy
of India.

SRS YU SfReArTR I 9

(c) Explain the initiatives taken by the |
Government to ensure that farmers get
remunerative prices for their produce.

T (OSER Seoqfre AR SO TV
ffveseR Sy S @Rl AEPTR T
4 |

22A/852 ' ( Turmn Over )
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(e)

(9)

(h)

22A /852

(6)

Point out the various labour policies
of India.

sres fifen 2w MR gl i |
Workers are exploited in the

unorganized sector. Do you agree with
this view? Give reasons in support of
your answer. '

o qe7 =Rz cie W1 g @
SReCE! o2 T2 (OTR T TS I
Gl

What is agricultural mechanization?
Explain the role of technology in Indian

agriculture.

ofRe AP 2 SReE FRe oyfERme

SEsisueall

Discuss the role of small-scale
industries in Indian economy.

s SIS T4 SwnR gl e
41 |

Point out the main features of Indian
tax system.

Sred F9 TEE A FREPRR gl o |

( Continued )

(7))

4. Answer any four from the following

questions : 10x4=40

ware firl erpTEd R Gt BieE e fia -

(a) Critically discuss the role of agriculture
in the economy of India. 10
TReE YRS FEI S THICTAREPeIE
R GIPRIRS S

() Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SHOd FU SCUIPTHRA TRl W STIES
ST S5 1 |

() What is service sector? Analyze the
performance of service sector of India

during post 1990’s. 2+8=10
o[RS T2 Sovo T fRe SO CRREI
TR TS [ResT 41 |

(d) Explain the role of foreign investment
in the economy of India. 10
e SAfve R RRGER PR T
<4l |

(e) Give an outline of the various
macroeconomic policies of India. 10
oRed Rfen itk s ST 8IT©
AR 41 |

22A/852 ( Turn Over )



(4)

(b) Write two characteristics of small-scale

()

(d)

(e)

industries.

T S Yo CafiE ferdt |

Write two merits of GST.

GST 9 701 {41 fo7371 |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy.

s 27 SRon W¥AIfes Rqgras 9o
YRS Ho[ Sea 91 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

3 IG@ IREA THE AE SRS A0 2129
91 R el 701 e o |

(9)

()

(5)

Mention twe objectives of the National
Competition Policy of India.

SRed TEE dferferEe Med 11 S
ey 40|

State any two problems of Public Sector
Enterprise of India.

Seq qEEdl 169 SR @ G o
a4 |

Answer any four from the following

questions :

wero A 2P R e BiRor Tes fir

(@)

(b)

Explain any five instruments of fiscal
policy in India.

SO IAGERE Aes /@I <mol SiEet
T 4 |

Discuss the tools of monetary policy
of India.

TAOY U] SRAPHR T T

S5x4=20

() Tertiary sector in India employs two ; L S
different kinds of people. Who are (c) Explain the initiatives taken by thi
they? Government to ensure that farmers ge
SRed CRR R remunerative prices for their produce.
ik ‘@3’151\:«% ie3. R mﬁémw%wﬁtsmﬁa%fﬁﬁw
Fq | (OSCEF (1 ? N b
<4 |
22A/852 ( Turn Over )
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(@)

(e)

(9)

(h)

22A /852

(6)

Point out the various labour policies
of India.

S 3w = TR Sl fr |

Workers  are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer. '

o qeq AR Cife F 1SR R
ol oz T ? o Tew TS IE
Gl

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

WW%%?@@?WW
R < T

Discuss the role of small-scale

industries in Indian economy.

@ SRS T SreE gl ST
740 |

Point out the main features of Indian
tax system.

SAed 9 IEHE T CafiePTR wgfem f |
( Continued )

4. Answer
questions :

(7)

following
10x4=40

any four from the

wﬁmmﬁmﬂmﬁtﬁwm:

(@)

(b)

(c)

(d)

(e)

22A/852

Critically discuss the role of agriculture
in the economy of India. 10

SRS ST FRY PR THIEADTPOIE
e <1 |

Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SRe] FE SCOIPTRY TP S SRS
T2, A 41

What is service sector? Analyze the
performance of service sector of India
during post 1990’s. 2+8=10
cade 2 Saso e SHed GRS
Sn{m T RemT 940

Explain the role of foreign investment
in the economy of India. 10

w@ﬂﬁ@mmﬁﬁﬁﬁmﬂﬂtﬁww
90|

Give an outline of the various

macroeconomic policies of India. 10

oReq Rfen Sl oI 8RO
SIS |

( Turn Over )



(8)

() Give an assessment of the Government
policy towards foreign investment. 10
woite RFGPR (Fae 599e fed @b
eI SR |

(g) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

SRed qEiied ffea SpfRarRE SIelRTR fa |
SPIRAPTR AT e g o e |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural
productivity. 6+4=10

SHoR FRY M TR FEFHR W[ 47 |
IR Teermeel Jfad @ R s
faam 1

() Discuss the role of public sector
industries in the economic development

of India. 10
oo ST TS o geq SoaeE
Sl AT 91 |

() What is agrarian structure? Outline the
agrarian structure of Indig. 4+6=10
RS M 12 SR gfiore e e
HAPATS 4 |

* %k K
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2022

ECONOMICS

Paper : ECO-HC-6026
( Development Economics—II )
( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :

1x10=10
o] 2P R (I wRbH e fra
(a) Define demography.
Gogd ke i |
(b) Give one example of renewable
resource.
FASIICN 517 BrR Trzaet il |

22A/853 ( Turn Over )



©

(@

(e)

(9

()

()

0)

22A/853

(2)
In which year was Paris Agreement on
Climate Change held?
@ e TRy ARTETE iR e Tifive
cafRe ?
What is meant by land tenure
relations?
it ¥g 3¢ e (& @ 3w 2
Define public goods.
qredl I K |
Give one Kkey success factor of

governarce.
P JAE 37 SFeTO] S 9ol o4 |

State the meaning of individual
behaviour.

wog 699 S A0 F40 |

Write one reason of urban population
growth,

T SR IR 901 P foray |
What is life expectancy?
HERT S 2

Define crude birthrate.

wrefde SHRIAd A fa |

( Continued )

(3)

(k) What is population dependency ratio?
TPRYA fSTe] Sere qferce & =12

() Mention one problem associated with

1

and.

SRR w191 TS BT P TeEs 4 |

(m) Give one characteristic of social group.

S B o1 CafEr for |

(n) What is microfinance?

Ty Rege 2

(o)

What is meant by common property
resource?

e I T e 6 o T 2

2. Answer any five from the following

questions :

T P R e #feor e fr

(@)

(b)

22A/853

Define sustainable development.

Jay aEed e e |

How does population growth contribute
to the development process of
developing countries?

Tag OrS Sepiay IRy SRR efere
fwea SRR Qe 2

( Turn Over )
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(4) (S)

3. Answer any four from the following

(c) Write down two problems that have
5x4=20

been seen in rural credit market.

2T 4 IRES 31 T 761 S fo77 |

guestions :

o 2PTRd A GGl DI T e

{a) Briefly explain the relationship between

(d) Mention the major eras of globalization
in the last 150 years. nutrition and labour productivity.
@Ml Seo IZAS PR 41 JoCIR01 S WS SRATERTS] S 4T ER TR BT
01 A
(e) Point out two most common deficiencies (b) Point out the main determinants of
involving in governance. good governance framework.
P JRE @ A g R @l Seay ST JER T3 C20! Sard 9 |
ESIN
(c) Explain the purpose of the study
() Give the definition of general fertility : of individual behaviour in social
rate. environment.
e TITOR FFT e il | AR AR ToF TR SR S S
: ! EIRISEIN :
(g9 What are the functions of individual
iour? ] e
behaviours (d Write a note on financial instability
Fog w4 FRICIR ¥ 2 in a globalized world.
e e RSy HRTeR @e b G
(h) Mention two areas where developed ¢ v
countries can help developing countries fert
vironm i
to protect en ental degradation. © What are the consequences of
e SRS (14 IR Twe (PR migration? Explain.
TR O R R S/ 71 o Seay e s 2 T

911
( Turn Over )
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(6)

(f/ Explain the interrelationship between

economic activity and climate change.

YRACT I HF TR ARG TS 47
SIGETFCO] 1 41 |

(g9 What are the causes of gender
inequality in a family?
AIRAeT foes® feissl (99 IR R 5 2

(h)

Explain the inter-linkages between
rural factor markets in developing
countries.

SEgIE (PR 2T BoI ISR TS 29l
SIGEACITMG! 0T F7 |

4. Answer any four from the following
questions :
©od 2RI R CRIeeTl BIfE e i
(@) Examine the major contributions of

22A/853

agriculture to the process of economic
development.

weftAfeT TR AR FRT T wweEz
*{Jre] 41 |

( Continued )

10x4=40

(b)

(c)

(d)

(7]

Discuss how globalization affects
the commodity trade of developing
countries.

e Srgeie (PR T3 e e oeE
CoEATRCR, SACEDA 341 |

Explain the functioning of credit market
in a rural economy.

AT SRS 4t ISR PRSI 70 391 |

What is migration? What are the factors
that lead to migration?

oo el & @2 & R FReT a9 aEw
HEoe 24 ?

Critically discuss the demographic
transition theory of population.

TR SRS TG, OGOl TICOA!
H2RCd el 41 |
Discuss various measures of land

reforms. How does it affect the
productivity of agrarian society?

gﬁ.wamﬁ-ﬁﬁm ngm{gvmﬁmﬂT?ﬂTldQ
qﬁmpﬁgiqﬁﬁagﬁrmmqq@wm%ﬁm$ﬁﬂeﬁ¢3
@Al SO T ?

Turn Over
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(8)

(g) Discuss the factors which influence
individual behaviour in an organization.
RIS 10 TG LI 2RS4 TR
STCATGT 41 |

(h) Discuss the terms governance
in  organization and community
governance.

Hamwwwwﬁiﬁmﬁm
AT 37 |

() Explain the connection between income,
mortality, fertility and human capital
accumulation.

SR, J9RN, TN 9<F I e =R
e FLCNAICET 777 < | -

() Explain the decline in the efficiency of
an organization in terms of Hirschman’s
exit, voice and loyalty theory.

AT 28, T W ey o g
G GO Pl R 21T “I12, 2yre e |

* % &
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